< & ¢@>(rad)

Ratio

.......................................................................

~0.15 TRRR1 I O R S S RTS SRR R F oo e

Ratio

+ H o

-1 2 3 -1
10 1 TPlp())T (PCA tloobeamlinélf) 10 1

—=— DQM_old
—e— DQM_wrong
—— DQM_V0001_R000000001__Global__ CMSSW_X Y _Z RECO

<90 dxy > (um)

100p : = T : :

I I KA S S S a0l R

g : N : 1l
Ot R < 20 oo T

r . w L . .
40F-------- e e - : +++ HTI

3 ; Voo W
20+ S [ E SEELIE IR - 5 :

N U 0 e | R 11100 EERE SRR
—20F-+-e-- T —40f-+-e-- fieeeeee FHFEFE oo
A0 11 I Y ST | I S
—60fF -+ e g - i
_80:_ ........ L "- ...................... =80 “-‘ """"""""""
100F——erdud e B - 100F——sertdi b fil b v
1.5;— --------- FHAFEEF oo e e eeee e E oo T T T 7

1— -------- T e O SHH TR

-1 2 3
10 1 TP]'[S)T (PCA 1 beamlindf’

< op/p > (%)

i

-1 , : ’ 2 3
10 1 8%, (Pca tbeamiindf




	Contents
	Page 1


